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Just divide each term by the denominator and simplify.

Divide a Polynomial by a Monomial:

5a°b - 15ab’® + 10a°b*
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Divide Polynomials Using Synthetic Division

Examples:

Example: (2x* - 7x% - Bx+16) + {x - 4)
A_ Put in descending order (if it is not already),

B. If there are any missing terms, write them as
{}Xgmwéré

C. Write the coefficients of each term in a row and
write the value of r 2" polynomial (x - r), to the
left of the 1°" polynomial. You can find it by
setting the factor equal fo zero and solving for x.

;

4z -7 -8 16

. Lecve one row blank and draw a horizontal line,

4l2 -7 -8 18

E. Drop I*" coefficient below line
H
i

“ﬁif 7 -8 16
2

F. Multiply rtimes the 1 coefficient and place result
in the blank row under 2™ coefficient.
4Rz -7 -8 16

¥

6. Add.
4]2 [7) -8 16
17
2 1

H. Continue multiplying and adding until ali
_coefficients have been used.
-8 16

I. Write the result in descending powers of the
variable beginning with a power one less than the
dividend.

2x2+ x - 4

*Never use synthetic division if your divisor has
a leading coefficient greater than 1!

9. (2 -7x%-x-12) + (x-4)
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10, (- 2x+ 12} + (x+ 3)
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